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- CCNA Exam ( Router)

What is the purpose of the POST on router?
determine additional hardware has been added

locate an 10S image for booting

set the configuration register

enable a TFTP server . s
TFTP server HoMmen

* Backup 105
Which process search for 10S to load it into the router? t ’
bootstrap
mini-10S
ROMMON mode - ’
POST
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- CCNA Exam ( Router)

What is the sequence to find the 10S in the router ?
Flash, TFTP server, ROM
NVRAM, TFTP server, ROM
TFTP server, Flash, ROM H e

k ! ‘* Mini-IOS

ROM, Flash, TFTP server . e
TFTP Server A0Mmon

* Backup 105
Which command is used to backup 10S to TFTP server? t ’
Copy flash tftp
Copy tftp flash
Copy ios tftp - ’
Copy nvram tftp
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- CCNA Exam ( Router)

Which command is used to erase everything on router ?

Write erase

Erase data

Erase things H . i In[-ms

Delete data . e
TFTP server ,wamn .
* Backup 10S
Which command is used to change hostname on Cisco ? t ’
Hostname

change host

Host new

e

New hostname
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- CCNA Exam ( Router)

Which command will show the currently running configurations ?
Show running

Show version

Show all settings

Show startu . ey
d TFTP server Aeimen
* Backup I0S
Which command will show the running configurations ? t ’

All of the Below
#show running-config

#show run

e

#sh run
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How to put enable password on Cisco router?

R1(config)# enable password password

FO/0 . FO/1 -
R1(config)# write password enable =, —_— =,

i

R1(config)# enable secret

R1#enable password password

How can you check if F1/0 is down?
R1#show ip interface F1/0

R1# show run

R1#show ip F1/0

R1(config)# show interface F1/0
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Which command which on the FO/1 interface?
R1(config-if)#no shut

R1(config-if)#on

R1(config)#F0/1 no shut

R1(config-if)#serial 0/1 on

Which is the best method to use in accessing router in japan ?
By using Telnet

By using Team Viewer

Cannot be connected

Need to go to Japan

F0/0 .. FO/1
- Nepit .

prSv—
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Which command can set the timer in Console or VTY
to 3 minutes and 10 seconds ?

(config-line)#exec-timeout 3 10 - LLF N -]

"'- -
=, L

é

—

(config-line)#no exec-timeout

(config)#exec-timeout 3 10

How do | stop a CLI from translate the wrong comamand ?

Router(config)# no ip domain-lookup

10S Command Line

Router(config)# no domain
Router# sow

Router# stop domain Translating "sow"...domain server (255.255.255.255) % Name lookup aborted

Router#
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- CCNA Exam ( Router)

Which of the following is routed protocol ? ROMtl.V\g Protocols
IP / \
IPX .
Interior Gateway Protocols (IGP) Exterior Gateway Protocols (EGP)
Rip / \ l
BGP Distance Vector Link State Path Vector
t RIPv2 ( RIPv1) t OSPF L BaGP
EIGRP ( IGRP) IS-IS
Which of the following is routing protocol ?
Rip
BGP
IP
IPX

All Rights Reserved - Second Edition © 2020 KSA gl dlase lalu Gudigall mlbal U jas 4 gina daa il 5 il (3 8s




@&

Over

- CCNA Exam ( Router)

Which one of the following is exterior gateway protocol?
BGP
RIP
IGRP
EIGRP

Interior Gateway Protocols (IGP)

T |

Distance Vector

I:R:Pvz ( RIPv1)
EIGRP ( IGRP )

At which layer of OSI routing protocol work?
Network

Transport

Data link

Presentation

Routing Protocols

e

Exterior Gateway Protocols (EGP)

Link State

tOSPF
IS-IS

Path Vector

L sar
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- CCNA Exam ( Router)

Which command is used to see R1 routing table ?

R1#show ip route 192.168.1.1/24
R1#show ip routing T
. FO/0 == S0/0 o i
R1#show routing table N ‘R
# PC Server
R1#show table 192.168.1.10/24 200.1.1.200/24

If R1 Received packet with destination 192.168.1.255,
What He will Do ?

R1 will drop this packet because this is not a valid IP
R1 will forward the packet out all interfaces.
R1 forwards the frame

R1 will ecapsulate the packet
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- CCNA Exam ( Router)

PC Must access files on the Server.

What command could be configured on R1 ? 192. 1681 1/24
ip route 0.0.0.0 0.0.0.0 SO/0
FO/ ~~S0/0 T
ip route 0.0.0.0 0.0.0.0 200.1.1.200 R2#
. PC Server
ip route 200.1.1.200 255.255.255.0 192.168.1.1 102.168.1.10/24 200.1.1.200/24
ip route 192.168.1.0 255.255.255.0 200.1.1.200
R1% show ip route
Codes: C - connected, 8 - static, I - IGRP, R - RIP,
Pc Cannot Reach the server, Why ? D - EIGRP, EX — EIGRP external, O — OSPF, IA -
N1 - OSPF NSSA external type 1, N2 - OSPF type 2
Static route is conﬁgured incorrectly Gateway of last resort is 172.19.22.2 to network 0.0.0.0
IP route is not Enable C 192.168.1.0 is directly connected, FastEthernet0/0
. ) C 172.18.22.0 is directly connected, Serial0/0
Fastethernet is disable $* 0.0.0.0/0 ([1/0] via 172.19.22.2
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Refer to exhibit. If R1 recieves a packet destined to T ——
. . Codes: C - connected, S - static, R - RIP, M - mobile, B - BGP
172.16.1.1, to which IP address does it send the packet? D - ETGHD, Bf - RIGHD extommel; G- OBFE ; Thi= 050 inber
N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external
192.168.14.4 El - OSPF external type 1, E2 - OSPF external type 2
Gateway of last resort is 192.168.14.4 to network 0.0.0.0
192168122 C 192.168.12.0/24 is directly connected, FastEthernet0/0
C 192.168.13.0/24 is directly connected, FastEthernet0/1
1921681 33 C 192.168.14.0/24 is directly connected, FastEthernetl/0
192.168.10.0/24 is variably subnetted, 3 subnets, 3 masks
192 168 15 5 o 192.168.10.0/24 [110/2] via 192.168.14.4, 00:02:01, F1/0
= E " o 192.168.10.32/27 [110/11] via 192.168.13.3, 00:00:52,F0/1
o 192.168.0.0/16 [110/2] via 192.168.15.5, 00:05:01, F1/1
" u . " D 192.168.10.1/32 [90/52778] via 192.168.12.2 00:03:44, FO0/0
What will be the Administrative distance ( AD ) of O*E2 0.0.0.0/0 [110/1] via 192.168.14.4, 00:00:10, F1/0
directly connected interfaces?
0
1
90
110
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What is the main reason of using RIP?

Rip version

For small network - - -

Ripv1 Ripv2 Ripng
Easy to manage IPv4 IPv4 IPve
Support all features Classfull VLSM VLSM
All of the above 5 hop 35 Wy 5 hop

broadcasts multicast multicast

N.N.N.255 | 224.0.0.9 FFO2::9
What is the main disadvantage of RIPv2? UDP(520) | UDP(520) | UDP(521)

. MDs MDs

RIPv2 cannot work with large network

RIPv2 doesnot support classless routing
RIPv2 is not compatible of all routers

None of the above
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- CCNA Exam ( Router)

RIPv2 is
_ Rip version

Distance vector
Ripv1 Ripv2 Ripng

Hybird IPv4 IPv4 IPve

Link state Classfull VLSM VLSM

None of the above 25 35 Wy 5 hop
broadcasts multicast multicast
N.N.N.255 | 224.0.0.9 FFO2::9

What is the administrative distance of RIP V1? UDP(520) UDP(520) | UDP(521)

MDs

90

20

0
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You are using RIPng in your company, what is the purpose ?
Support IPv6

Support IPv4

Support VLSM

Support Multicasting

How many hop limits does RIPv2 supports?
15

14

16

255

Rip version

Ripv1 Ripv2 Ripng
IPv4 IPv4 IPvée
Classfull VLSM VLSM
15 hop 15 hop 15 hop
broadcasts multicast multicast
N.N.N.255 | 224.0.0.9 FFO2::9
UDP(520) | UDP(520) | UDP(521)
MDSs MDs
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Refer to exhibit. route 10.1.1.0 is marked invlid on R1
,How much time is left before that route is removed

from the routing table?
R1# show ip protocols
60 seconds Routing Protocol is “rip”
Sending updates every 30 seconds, next due in 8 seconds
30 seconds Invalid after 180 seconds, hold down 180, flushed after 240
outgoing updates filter list for all interfaces is not set
180 seconds Incoming update filter for all interfaces is not set
<output omitted>
240 seconds R1%

Which command can enable Rip ?
R(config)#Router Rip
R(config)#Enable Rip

R(config)#Rip
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- CCNA Exam ( Router)

Refer to the exhibit. IP 172.16.10.0 not advertise, =

Which command will correct the problem? interface F0/0

Eriabla RIPV2 IP addres 172.16.10.1 255.255.255.0
. Router rip

Enable passive interface SR ATITED G

Enable manual summarization EAUto=Sammary

Enable autosummarization

Which command will broadcast your R1 interface in Rip v2?
R(config-router)#Network x.x.x.x

R(config-router)#Broadcast x.x.x.x

R(config-router)#RIP Network x.x.x.x

R(config-router)#IP x.x.x.x
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EIGRP is Eigrp

Hybrid VLSM

Distance vector 224 hop

Link state Multicast

None of the above 224.0.0.10
Authentication (MDS5)

YVhich multicast address is used for sending routing information RTP to send Packets

in EIGRP?

224.0.0.10

224.0.0.9

224.0.0.8

224.0.0.7
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Which type of EIGRP route describes feasible successor?

backup route,stored in the topology table

Successor =
primary route,stored in the routing table
40 50
backup route,stored in the routing table 6
: s Feasible
primary route,stored in the topology table Pt = 50

What is the administrative distance of Internal EIGRP?
90
120
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How many type of metrics are in EIGRP? ‘ .

> K1=1 K2=0 K3=1 K4=0 K5=0
Z ililge?r)ic = | 256 x(%+%+% )X o X —
7

What is the default value of K4 in EIGRP metric ?
0

1

4

10
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Which EIGRP command view the IP adresses of the neighbors ?

Hello —»
#show ip eigrp neighbors Hello —»
Hello —»
#show ip eigrp interfaces ' . == Q
;- " RS ' R2
o A\ .

#show ip neighbors

. . , #No router Eigrp Hello —
#show ip eigrp traffic Goodbye

Which packet tells EIGRP neighbors to Stop the relationship ?
Hello : Goodbye messages

successors

advertised changes

expiration of the hold timer
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What does OSPF stands for?
Open Shortest path First

Autonomous System

Open Slowest Path First
Open Speed Path First
Open Selected path first

An Autonomous system of OSPF can have multiple areas in it
True

False
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Which area is reserved as backbone area in OSPF?
Area 0

Area 1000

Area 1

Area 0.0.0.0

Autonomous System

Which statement describes the process ID of OSPF ?
used to identify the OSPF database

used to represent the AS number

used to identify the areas

must be the same in all areas
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What is the purpose of ABR In OSPF network ?

It is a router which connect one or more areas to backbone area Autonomous System
It is a router which is connected to more than one router
It is a routers have neighbour relationship in the same area

None

What will be the wildcard mask for IP 168.231.0.7/24 ?
0.0.0.255
0.0.0.254
0.0.7.255
0.0.3.255
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What is the range of priority when selecting DR or BDR ?

1-255 DR
0-255 r}r;
10-255
0-1 Rs lﬂt’"’i P’i "
DRothers BDR
When a DR fails, and BDR takes over, what is the next selection ? Pr; Pri
R4 R3
To select BDR DRothers DRothers

To select BROthers
To select DR
To select AS
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OSPF configuration of routers R1 and R2.

The routers cannot establish relationship R1: EthernetO is up, line protocol is up
% % o = ‘ Internet address 192.168.1.2/24, Area 0
based on the lnformatlon in the graphlc ' Process ID 1, Router ID 192.168.31.33, Network Type BROADCAST, Cost: 10
. . Transmit Delay is 1 sec, State DR, Priority 1
What is the cause Of this prObIem? Designated Router (ID) 192.168.31.33, Interface address 192.168.1.2
No backup designated router on this network
The hello and dead timers are not configured properly Timer intervals configured, Hello 5, Dead 20, Wait 20, Retransmit 5

R2: EthernetO is up, line protocol is up
Internet address 192.168.1.1/24, Area 0
Process ID 2, Router ID 192.168.31.11, Network Type BROADCAST, Cost: 10

The OSPF area is not configured properly

The pIOFIty on R1 should be set hlgher Transmit Delay is 1 sec, State DR, Priority 1
A Designated Router (ID) 192.168.31.11, Interface address 192.168.1.1
The cost on R1 should be set h'gher No backup designated router on this network

Timer intervals configured, Hello 10, Dead 40, Wait 40, Retransmit 5

All Rights Reserved - Second Edition © 2020 KSA gl dlase el Gusigall mlbal b joas 4ds dae daa jill 5 il (3 8a



Lt
. el len
Wet ' m e
o Bt &
AR
ST

Over

- CCNA Exam ( Router)

Refer to the exhibit, what summary address
would be sent from R1 ?

172.16.0.0/16 ? |
172.16.0.0/20
172.64.0.0/16
172.64.128.0/24
R1 and R4 cannot establish an adacency in OSPF, ["-oo running conflg Rdfishow running-conflg
. . -
What is causing the problem? e s G ——
Thara:d D mi h ip address 172.16.32.2 255.255.255.252 ip address 172.16.32.1 255.255.255.252
€reIs an area mismatc encapsulation ppp encapsulation ppp
. . . ip ospf 3 area 0 ip ospf 4 area 2
There is an encapsulation mismatch Sm— —

There is an OSPF hello mismatch
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What is the default admin distance for eBGP? EBGP
20
10
200
120

AS 100 AS 300

What routing protocol code does the routing table use for eBGP?

B

[
D
E
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What command to verify that your eBGP relationship EBGP
has formed?

show ip bgp summary

show ip community-list

show ip bgp paths

show ip route

AS 100 AS 300

What command do you use to form a BGP peering?
neighbor

Network

peer

adjacency
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